1 Gsaka Metro 6 190 0 190 0 0 0
2 Gsaka Metro 9 308 0 308 0 0 0
3 Gsaka Metro 5 164 0 164 0 0 0
4 ek o o | 792 0 792 | 9 2% il
5 csaka et ro o | 254 0 24 | 5 6 10
6 csaka et ro e | am 0 | 2 2 5
7 eaka Moo 5| s02 0 502 | 15 4 16
8 saka Met 1o 7| 1= 206 3 | 8 2 5
9 ke et 1o Dl 20 0 20 0 0 1
10 Gsaka Metro 5 360 0 360 0 0 1
11 PR wl| 0 70 0 0 0
12 (baka hetro 1| 1o 0 1o | 2 4 3
13 ke Mot 1o ] eo 0 60 1 2 2
14 Osaka Metro S| = 0 30 0 0 1
15 0| us 0 us | 2 2 2
16 s 2 0 29 0 0 1
17 & | 19 0 197 | 5 2 4
18 8 | 424 0 a4 | 7 12 14
19 aka netro 13| =6 0 256 0 0 0
20 Gsaka Metro 4 73 0 73 3 4 3
2 (saka Wetro | o Y 30 0 8 0
2 ok net o Bl e 0 62 0 2 1
23 aka et ro 8, | 105 0 105 0 0 0
24 Gsaka Metro 1 844 0 844 25 17 10
2 (saka Metro 2| o7 0 197 7 1 3
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26 (saka Metro 8 124 0 124 6 5 4
(Gsaka Metro 14
z (CGsaka Metro 14 0 30 30 3 1 0
5,797 266 6, 064 100 98 117




